Econ 001: Midterm 1 

February 16, 2010
Snow special: no taxes or subsidies

Instructions:

This is a 60-minute examination.

Write all answers in the blue books provided. Show all work. Use diagrams where

appropriate and label all diagrams carefully.

Write your name and your Recitation Instructor's name in every blue book that you use.

This exam is given under the rules of Penn's Honor system.

All blue books, blank or filled, must be handed in at the end of this exam. No blue books may be taken from the room.

The use of Programmable Calculators is in violation of Departmental rule. It is

strictly forbidden!

The Midterm has 2 parts.

Part 1 consists of 7 multiple-choice questions. Please use the first page of a blue book to record your answers.

Part 2 consists of 2 short answer questions. Please use a separate blue book for each.

Part I: Multiple Choice Questions (5 points each/35 points total):

1. 
James was planning to go skiing in the Spring Mountain Skiing Area and he made a reservation by paying $100, which covers all costs for the day. The reservation is fully refundable if he cancels it at least a week in advance, and nonrefundable otherwise. Two days before the date of skiing, James received two free tickets for a concert at Carnegie Hall played by a famous pianist Yundi Li. Mega bus tickets to NYC cost $40. James will get $320 worth of benefit if he goes to the concert. What is their opportunity cost of skiing?

a. $280

b. $320

c. $380

d. $420

2. 
Consider a country producing two goods, flowers and pizza. Which of the following statement is correct about its Production Possibility Frontier (PPF)?

a. With international trade, a country can produces outside its PPF.
b. If the country is producing inside the PPF, it may have unemployment.

c. With economic growth the country will always produce at a new production point with both more flowers and more pizzas than before.

d. All the above statements are correct.

3. 
In a local town, the town carpenter can build three pieces of furniture or bake two loaves of bread each day. The town baker can bake a dozen (12) loafs of bread or build four pieces of furniture. Should the baker trade with the carpenter?

a. No, because the baker has both a comparative and absolute advantage in carpentry.
b. No, because the baker has a lower opportunity cost of baking bread.
c. Yes, because the carpenter has a comparative advantage in producing furniture while the baker has a comparative advantage in baking bread.
d. Yes, because even though the baker has the absolute advantage in producing both goods, the carpenter has a higher opportunity cost of producing furniture.

4.
Due to the very cold winter, consumers have been using a lot of heat in their homes. In an effort to help consumers, a politician proposes that the price of heating should be capped at $5. What will be the effect of the politician’s proposed plan? Supply and demand are given by:

Qs = 3P-3
Qd = 13-P

a. There will be a shortage because at P = 5, demand will increase. 
b. There will be a surplus of 3, because Qs will be 12 and Qd will be 8.
c. There will be a surplus because $5 is greater than the equilibrium price.
d. The equilibrium price and quantity will not be affected.

5.
Using the demand & supply equations from question 4. At the market equilibrium the consumer surplus is:


a. $81 
b. $40.5
c. $45
d. None of the above

6.  
Consider the daily production table below of yams and sweet potatoes.  Suppose that the joint economy of Barry and Gary is producing 10 yams and 10 sweet potatoes.  What is the opportunity cost of yams?
	
	Yams
	Sweet Potatoes

	Barry
	12
	4

	Gary
	5
	10


a. 0

b. 1/3

c. 1/2

d. 2
7. In Jeanstown the demand for labor is downward sloping and the supply of labor is perfectly inelastic. A minimum wage, that is set higher than the equilibrium wage, will cause:

a. Dead Weight Loss.

b. Unemployment.

c. Both Dead Weight Loss and unemployment.
d. Neither Dead Weight Loss nor unemployment.
Answers:

1. a
2. b
3. c
4. d 
5. b
6. a
7. c
Part II: Short Answer Questions (33 points each/66 points total):

Please use a separate blue book for each question.

Explain answers carefully using graphs where appropriate. Your grade depends on your explanation as well as your answer: so show your work!

Keep your answers short! You only need a sentence or two per section.
Q1.

Suppose that USA can produce 2 goods: surgeries and potatoes. 
Suppose further that USA has 3 workers: 1 doctor and 2 farmers. 

Their weekly productivities (per worker) are given in the table below:
	
	Surgeries (per week per doctor)
	Potatoes (per week per farmer)

	Doctors
	2
	2

	Farmers
	1
	4


We will start with a world where trade between USA and other nations is not possible:

a. Draw USA’s weekly PPF with surgeries on the horizontal axis.

Answer:

A PPF with one kink. (4,0); (2,8); (0, 10)

Points: 8
General shape (one kink) :2 points
Each point: 2
b. What can you say about USA's weekly CPF?
Answer:

Without trade it is the same as the PPF.
Points: 3
c. USA currently produces 4 potatoes a week. Assuming it is efficient, how many surgeries are performed per week? Who performs these surgeries?

Answer:

To produce 4 potatoes one farmer must be allocated to potatoes and the other to surgeries. This implies there are a maximum of 3 surgeries performed. These are by the doctor & one of the farmers.
Points: 4
3 surgeries: 2
Potatoes by one farmer: 1
Surgeries by doctor + one farmer: 1
Now let us assume that international trade is possible:

d. Assume that the world trade ratio is 3 units of potatoes for one surgery unit. Add USA production point to your graph in part (a). Explain your answer. 

Answer:

The doctor’s opportunity cost of a surgery is less than 3 potatoes, so she will produce surgeries. The farmers’ opportunity cost of a surgery is higher than 3 so they will produce potatoes.

Thus the production point is 2 surgeries & 8 potatoes.
Points: 5
Correct point: 2
Explanation relating to Opportunity Cost: 3 (only 1 if don’t refer to O.C.)
e. Given your answer to part d, add USA's CPF to your graph in part a.

Answer:

A straight line with slope of 3 passing thorough the point above.
Points: 5
Straight line: 2 (1 point if only a partial line)
Slope 3: 1 

Through production point: 1

Not inside the PPF: 1

Note that if the CPF  is inside the PPF the student will loose more than 1 point because they have made an additional error.

f. Assuming the USA still wants 4 potatoes per week, how many surgeries can it now consume? Show numerically & graphically.
Answer:

Selling 4 potatoes, at 3 potatoes per surgery, yields 1 & 1/3 surgeries. This plus the two performed locally means a total of 3&1/3 surgeries.
Point on CPF at potatoes=4.
Points: 6
Numerical solution:3
On graph:3
g. Is international trade in surgeries possible? Explain briefly.
Answer:

It is as people can travel internationally to get surgeries & doctors could travel to give surgeries. Points: 2

Q2. 
Are we heading towards a shortage of soy burgers? This question asks you to analyze some of the influences on this market in recent months.

We expect a series of large, clear graphs to answer each of the following questions.

Please analyze parts b through d separately.

Note: students will loose at least 4 points if the failed to answer is separate graphs. If this failure caused the TAs to be unable to follow the answer they will loose more than 4 points.

a. 
Start by drawing the supply & demand graph in the soy burger market. Assume the usual curves and mark the equilibrium quantity and price.

Answer:

Usual graph.

Points: 5
S & D: 2

Axis labeled: 1
P* & Q* : 1 each
b. 
Soy burgers are an inferior good. What impact will the current recession have on their market under this assumption? Use a graph to explain your answer. Show the new equilibrium.

Answer:

As incomes decline demand for an inferior good will increase. Shift out of D curve yields Q**>Q* & P**>P*.

Points: 6
Using the term inferior good correctly: 2

Shift out of D: 2

P**>P*:1
Q**>Q*:1 
c. 
One of the big manufacturing plants, the Oregon producer Veggie’s Pride, has gone bankrupt. What effect would their departure from the industry have on the market for soy burgers? Use a graph to explain your answer and to show the new equilibrium.

Answer:

An exit of a firm from the industry would yield a shift in of the supply curve. P**>P* & Q**<Q*.

Points: 6
Understanding there is exit: 2

Shift in of S: 2

P**>P*:1

Q**<Q*:1 
d. 
Improved technology for harvesting wheat has lowered the price of buns. What is the relationship between soy burgers & buns? What impact will this have on the market for soy burgers? Use a graph to explain your answer and to show the new equilibrium.

Answer:

Soy burgers & buns are most likely complements. In that case a decrease in the price of buns will increase the demand of soy burgers. See b.

Points: 6
Complements: 2 

Shift out of D: 2
P**>P*:1

Q**>Q*:1 
e. Based on your graph from parts b, c, & d, is any of these causes sufficient to explain a shortage of soy burgers? Explain carefully why or why not.
Answer:

No. In all cases markets should adjust to a new equilibrium and there should be no shortage.

Points: 4
Adjustment to new equilibrium: 2
Therefore, no shortage: 2
f. Moran works as an analyst for Vegan Food Consultants. Her data show that sales (revenues) from soy burgers have fallen in the last few months. Could this be consistent with the information presented by parts b, c or d? Explain carefully.
Answer:

Parts b & d imply that both P & Q increase, which means that revenue, which is defined as P*Q, must increase too.

In part c price increases but quantity decreases, thus revenue could decrease.

This would happen if and only if demand for soy burgers is elastic.

Points: 6

Understanding revenue: 2

Revenue falling is not consistent with b or d: 1

Is constant with c: 1

Only if demand elastic:2
Editorial note: this question was based on “Chicken Wing Worries: Super Bowl Shortage?” a January 29th CBS news article that suggested that come Super Bowl weekend there will not be enough chicken wings to go around. The choice of Soy Burgers reflects an understanding that some may object to choosing chicken wings as an example of acceptable food.



























